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5.4  Solving Proportions

Essential Question -

How can we use ratio
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[3TXLINE D) Solving Proportions Using the Cross Products Property.

g = 170 10x = 56
10 10
X 7
=10
x = 5.6
10x = 8(7)

10x = 56
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EXAMPLE (2 B3 e Application

The graph shows the toll y due on —

a turnpike for driving x miles. Your VK T
toll is $7.50. How many kilometers 7" (200, 15)
did you drive? % 12
According to the graph, we went = :
100 miles if we paid $7.50. g 3
° 50 100 150 200x
* Convert 100 miles to kilometers Distance (miles)

1 mile = 1.61km

km 1001};5/ex 1.61
mile 1 e

(1.61)(100) = 161 km




